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view plaincopy to clipboardprint? public class Base64 { /** * [0 1 [J
0 0O 0O O 0O base64l] I */ static public char[] encode(byte[] data)
{ char[] out = new char[((data.length 2) / 3) * 4]. for (inti =0, index
= 0. 1amp. (int) data[i]). val It.= 8. if ((1 1) amp. (int) data[i 1]). trip
=true. } val It.= 8. If ((1 2) amp. (int) data[i 2]). quad = true. }
out[index 3] = alphabet[(quad ? (val gt.amp. 0x3F) : 64)]. val gt.= 6.
out[index 1] = alphabet[val gt.amp. 0x3F]. } return out. } /** *
Obase64d OO0 OO OOOOOMOO */ static public byte[]
decode(char[] data) { int len = ((data.length 3) / 4) * 3.
if(data.length amp.gt. 1 amp. data[data.length - 2] == =) --len.
byte[] out = new byte[len]. int shift = 0. int accum = 0. int index = 0.
for(intix = 0. ix amp. OXFF]. if(value It.gt.= 8) { shift -= 8. out[index
1 = (byte)((accum gt. shift) It. 256. i) codes[i] = -1. for (inti=A.1i



It.=z.1) codes[i] = (byte) (261 -a).for (inti=0.1&It.=9.1)
codes[i] = (byte) (521 - 0). codes[ ] = 62. codes[/] = 63. } public
static void main(String[] args) throws Exception { //LJ [0 [ base64
String strSrc ="[1 ". String strOut = new
String(Base64.encode(strSrc.getBytes())).
System.out.printin(strOut). String strOut2 = new
String(Base64.decode(strOut.toCharArray())).
System.out.printin(strOut2). } } 20090 900 U O O O O O 0O O O
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